Addition Horizontale de Décimaux (I)

88,7+ 6,9 =

15,56 + 1,2 =

8,85+2,1 =

65,65 + 4,5 =

58,90 + 2.3 =

55+ 1,4 =

8,54 + 6,2 =

9,2 +2,73 =

13,4 + 6,50 =

18,3+7,9 =

Calculez chaque somme.

29,51 + 5,97 =

73,1 + 54,22 =

64,32 + 10,29 =

64,2 + 2,4 =

41,39 + 3,1 =

83,9+ 63,3 =

63,04 + 57,67 =

54,98 + 3.9 =

90,1 + 84,95 =

56,63 + 41,47 =
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Addition Horizontale de Décimaux (I) Réponses

Calculez chaque somme.

88,7+ 6,9 = 95.6 29,51 + 5,97 = 35,48
15,56 + 1,2 = 16,76 73,1 + 54,22 = 127,32
8,85 +2,1 = 10,95 64,32 + 10,29 = 74,61
65,65 + 4,5 = 70,15 64,2 + 2,4 = 66,6
58,90 4+ 2,3 = 61,2 41,39 4 3,1 = 44,49
5,5+1,4=69 83,9 + 63,3 = 147.2
8,54+ 6,2 = 14,74 63,04 4+ 57,67 = 120,71
9,2 +2,73 = 11,93 54,98 + 3,9 = 58,88
13,4 + 6,50 = 19,9 90,1 + 84,95 = 175,05
18,3+ 7,9 = 26,2 56,63 + 41,47 = 98,1
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